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A

B. A low pass filter of 
0.005ohms and 0.01F, with 
building blocks



C. The Cut-Off Frequency

D. The Simulated Design 

E. When the signal of 2K 
ohms is passed through the 
filter, the following will be 
obtained. 
The transfer function 



equation for the circuit is 
given below as
(1/RC)/(S + 1/RC)
When R= 2,000Ω and C= 
0.01F
Transfer Fcn = 
(1/2000*0.01)/(S + 
(2000*0.01)) = (0.05)/(s+ 
0.05) 
therefore:

Observations: Attenuation is 
the reciprocal of gain, and 
for this particular signal, the 
signal is attenuated to 9.266 
ohms .


